
Handling Disaggregation of Gross with Rolled Up Allowances under STP2 in Reckon – A Simpler Method. 

This is a variation on how to handle rolled up allowances where the ATO requires the Gross to be disaggregated 

under STP2. 

The method is simpler that the Reckon’s currently published method, and some may find it more intuitive.  

Importantly, the “Hourly Rate” includes the allowances, so it can be used to calculate overtime, leave, cashed out 

leave and annual leave on termination.  I will use this paper as a basis and explain how it works and the benefits 

of using this method.  The Reckon method is below: 

Handling All purpose allowances with Overtime in Reckon Accounts 2023 - Reckon Help and Support Centre 

 

My method requires a new deduction to be added.  What we want to achieve is: 

 Set the Hourly Pay at the rolled-up rate of $893.40 per week ($23.51053 per hour). Overtime and leave 

are also based on this rate. 

 Add the Tool and Industry Allowance as an allowance.  This is to tell the ATO how much we are paying in 

these allowances.  

 Deduct an amount for Tool and Industry Allowance as these amounts are already included in the Hourly 

Pay.  This amount also deducts from the Taxable Pay and Gross reported to the ATO so everything reports 

and is taxed correctly.  

Follow the Reckon paper for steps 1 and 2, then add this. 

Step 2a: Create a new deduction to offset the allowances paid in the hourly rate. 

 

Note: For the Liability Account, choose the same expense account used for “Hourly Pay”.  This may be Payroll 

Expenses, Gross Wages or similar. 

 
 

These setting are crucial to getting the tax and STP reporting correct.  They may feel wrong but remember that 

this amount is negative and will reduce the taxable gross.  



 

You can set a default rate here, but I generally leave this as blank and set the rate in the employee setup. 

 

The Variation 

Here, we leave the Reckon example, and look at how the employee is set up.  I have used the Reckon sample file 

for these screenshots. 

 

Note here, the Hourly Pay rate is the rolled-up rate of ($840.10 + $33.28 + $20.002)/38 Hours = $23.51053.  The 

overtime rates can be added here, or they can be added during the payrun as the rate is just 150% of the Hourly 

Pay rate. 

The deduction “Offset Allowances Rolled Up”, is the sum of the rolled-up allowances: 

$20.02 + $33.28 = $53.30. 

  



The Payrun. 

 

For the payrun, there is nothing tricky to do.  You can see above that I have added Double Time and the rate has 

automatically calculated this at 200% of the Hourly Pay rate. 

Calculations: 

PAYG Withholding is correctly calculated on the Hourly Pay (including the rolled-up allowances) plus the Time and 

a Half: $893.40 + $70.54 = $963.94.  Tax is correctly calculated at $149.  Super should be 11% of the Hourly Pay: 

$893.40 x 11% = $98.27.  Net Pay is Hourly Pay + Time and a half – PAYG = $893.40 + $70.54 – $149.00= $814.94 

The Tool Allowance, Industry Allowance and Offset Allowances total zero and do not affect the calculations. 

 

STP Lodgement 

The lodgement shows as follows: 

 
All of the items are accurately reflected. 

 

Accounts Affected 

 
Note that Offset Allowances reduces the posting to Gross Wages: = $893.40 - $53.30 = $840.10 



 

Advanced Concepts 

If you have staff that work variable part-time hours, you can set this screen in both the allowances and the offset 

allowance as based on quantity. 

 
 

For the employee setup, the rates put in for the allowances and deductions are the hourly amounts: 

 
 

During the payrun, the hours worked are entered in the allowances to calculate the correct reporting of Tool 

Allowance and Industry Allowance. 
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